MITTAL COMMERCE CLASSES CA FOUNDATION- MOCK TEST

(GCF-7, GCF-12, GCF-13, GCF-14, GCF-15, GCF-16, GCF-17, SCF-3, VDCF-2 & VCF-3)
DATE: 17.09.2019 MAXIMUM MARKS: 100 TIMING: 3 Hours

BUSINESS LAW & BUSINESS CORRESPONDENCE & REPORTING

Question No. 1 is Compulsory. Answer any four question from the remaining five questions.
Wherever necessary, suitable assumptions should be made and disclosed by way of note
forming part of the answer.

Working Notes should from part of the answer.

Question 1:

(a) SMERAM S7UAT ER IAEIRMA Bl 99 H YKIG HRAT 8 | AT S[d gRT U1 Wi 9ol
ST B oFTel QT IEMRM Ud AR WSl ] AU Wi Bl aifud o ofdr ©, e
aRRerferl 7 TieRfd @1 dear o it &1 |
(a) rafd & FREN &1 dR IHREE gRT Wiagfa & 03 o uiftd 9 gqd fear T o |
(b) oSRAIGf FREN &1 AR den Wgfd &1 u= S & veh & 9T W Uugd |

(4 Marks)

(b) ABC urgde fof. o o ®u 8 Rrad 5 9 21 94 9 fof o & Heg § dR grRT

TEE off 2 ¥ | Udh gHeAdl @ HRU 94 Aawil @ 9g B TR | dHAl AffRME, 2013 @
Il & 3TV a8y & o7 HFaei &7 ARG W AT 8 I ?

(4 Marks)

(c) X 1 HfH AIfEl &1 8R A $Md W) I8 Araax WRIel & 98 adfde ARl &1 a1 © |
faeha @I udT o WR 98 U @1 | 7 X e wR [Awa A aE 1930 & S=id a1 Uwd

PR AhdT § ?
(4 Marks)
Question 2:
(a) AT <R AEER & G & i =Ror gami’?
(6 Marks)

(b) M, UM B 200 HUS Bl TS WoIdT & ST 100 TS AT §RT 3R AT 100 TS NeT IRT ForaTl
21 TITH 100 BUS BT TS ST N §RT AS TS & U dxel 2 iR faanferar & oiar 811 3
S f 319 sred fAedT €, A9 A1 B JFF H b <dT 2| TATH BT ARG RAaR, 71T W
YT 1T BT B | 9] faey AT 1930 & UaerEl & AR AWl MEiRT B |

(6 Marks)

Question 3:

(@) A B CUSH ®H H AEIGR 21 A & &M ¥ 20 Ufoerd 21 g1 A Sarfiga gar & &R S9a
15 139 918 S¥@! 9g 8 Wil 2| B 9 C 997 @@l &1, MueRT fby e SNy /ad & | A
P AP STRITBIRAT B SMfTBR qdTT |

(4 Marks)

(b) e, 3MEliY 3R I Ud BH & HEIGR © 3FI9 & GRIERUl, SIMgSIhR ATURdTe] & HRoT
BH Bl JHA GAT | A o & a8 A&7 3R AN 7 3= Bl BH I FPbTel $ UTa
qRa fHaT| o o9 URATd gRT JAfNG Bl FRIGR & ©T H Y9 HRadl 39 = 3Mafr
93l T ISP URT ST Ifd 2 |

(6 Marks)

(c) 3THY, TH 3R IO 7 UH [HIAT JIART dTg | STHd™] 2012 | 5 AT & foIg g™ foan
qET | Ugel a¥ 20,000 TN dY 25000 AR TEX ¥ 35,000 BT JHA T3 | Iw0T 3R
TEOT BH BT FATGT BAT AR © | IR 300 AT BT SR TG AT 2 | G007 g TH00

P AoATg SIfTY ?

(2 Marks)
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Question 4:
(a) “Nemo dat Quod Non Habet” &1 Rigd @I € 9 39 Rigrd & 3uarg Y gang ?
(7 Marks)

(b)  10.11.2006 ®I T3 & S IAMMH - AEHSEG B 3 IME Bl . 40 Ul fHuT & X 9 I8
T AT BRA BT AR fIAT| AR 10 ST AT B AT 1 A8 dI @ A 9
™R, 2006 & UESl &I I off | 04.12.2006 HI 371 28 9 sf IFRET BT U U forar &
I$E BN T B BIAG ®. 50 URT fHIT B R A MHAAM G & B, gAfeIw I8 ARya A
@I 3MYfc & B URRI| 09.12.2006 B S$& &Il P DA . 53 Ufd B3I 81 T3 | BT
Rerfa Tse vd Y & IHRETH ®1 g <Iforg 2

(5 Marks)

Question 5:

(a) UP SHMER U WA H U Silel 99 UGRId HRAl & o7 WR . 2,000 B HHAT o o |
A el S9 PIHd B TEPR GHMER & U AR & 3R I GHMAR Bl BIA b g4
% BT @ oIy FEdl 8| THFGR S99 $9 & SR ol HFd d URh § I $9 < A
SHR TR <l ¢ | 9 oAael musT gema aredt ® 6 @ 98 IR |faer siifem, 1872 &
=T 99 HMER & [d%g SWRIGT HROT I a6 UKd B Gl @ |

(5 Marks)

(b) F, U% PRGN, U &A1 AT o TAT IH TS AT A ¥ 98 g ol | IFq9 I ol
PHAAT B WYAT B AT IAb HFA & A1 99 & | 9 R e gvs 8|
HHFIT & Yole & ©9 H RV & & o7 FeAd 83l | 59 HACN §RT YT ATl e
TS B IR F BT Bfedd 0T & w9 § & I R2T| 39 )8 I F o 3[U=T 3 &I <+
qrTl # die I Ry f S9a1 ) &1 TR &8 8 9a | ol e & fog sewu &
forg 3 9 ol FwfEl a8 78 of | @1 W SRl & B ARG B AT B
ST Al 87

(4 Marks)

Z 9 gz Rerd oUAT A W BT B 10,000 ATRYS PR TR f&AT| Z R <3 30 2 aRd
BT I Il R B BT H IHIIT B89 D BRI HH T SHABT ABE A A & folw
fasi= faar) W S ST aRomd | 994 & fofg 9 @1 Z gRT <F |afed R Bl
PIAM IR <dl © | IRAIT Aa TAIH, 1872 & UIGUI Bl &9 H @ 8¢ Foig SITY
fb @ W S IR BT Z I 9199 UTe BT BT BN 2 |

(c)

(3 Marks)

Question 6:

(a) M WY SOHl T ST STl BT . 50,000 <7 BT ATET BRI & O 9€ S1UW 309
ST IR 9 BR G | S oATell 30 i Bl falad xR & foy a1ferd #=all © oFR ar
T Fedl WR HRd 2 | AW W forRad aRR 91 < € der 9 R fafdad dohiad @
ST ¥ 1 S W S gl A el B a8 fied iR o § srmet 8@ oy
SR AT, A B D ieg a9 TT ST 9T ST a8 &) W@H agd $1 arEd
2| R <faer ffad, 1872 & IER 39 R W N 9 a1l wiauEt & Ao H
ga QITY b a1 STl SlTell bl Aherdl [Ferl |

(5 Marks)

(b) 3IR® Y&y T NG Td SHH 3Uarg gamy ?
(7 Marks)
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The Question Paper comprises of 5 questions of 10 marks each.
Question No. 7 is compulsory. Out of questions 8 to 11, attempt any three.

SECTION-B : BUSINESS CORRESPONDENCE & REPORTING (40 MARKS

Question 7:

(a) Read the passage carefully and answer the questions that follow:
A sanctuary may be defined as a place where Man is passive and the rest of Nature
active. Till quite recently Nature had her own sanctuaries, where man either did not
go at all or went only as a tool-using animal in comparatively small humbers. But
now, in this machine age, there is no place left where man cannot go with
overwhelming forces at his command. He can strangle to death all the nobler wild life
in the world to-day. Tomorrow he certainly will have done so, unless he exercises
due foresight and self-control in the mean time.
There is not the slightest doubt that birds and mammals are now being killed off
much faster than they can breed. And it is always the largest and noblest forms of
life that suffer most. The whales and elephants, lions and eagles, go. The rats and
flies, and all mean parasites, remain. This is inevitable in certain cases. But it is
wanton killing off that is of concern. Civilized man begins by destroying the very
forms of wild life he learns to appreciate most when he becomes still more civilized.
The obvious remedy is to begin conservation at an earlier stage, when it is easier
and better in every way, by enforcing laws for close seasons, game preserves, the
selective protection of certain species, and sanctuaries.
I have just defined a sanctuary as a place where man is passive and the rest of
Nature active. But this general definition is too absolute for any special case. The
mere fact that man has to protect a sanctuary does away with his purely passive
attitude. Then, he can be beneficially active by destroying pests and parasites, like
bot-flies or mosquitoes, and by finding antidotes for diseases like the epidemic
which periodically kills off the rabbits and thus starves many of the carnivores to
death. But, except in cases where experiment has proved his intervention to be
beneficial, the less he upsets the balance of Nature the better, even when he tries to
be an earthly Providence.

1. What can man do to avoid killing all wild life in the future?
(a) Experiment more
(b) Have a foresight
(c) Maintain self control
(d) Both aand b
(1 Mark)
2. What according to the author is a sanctuary?
(a) A place where Man is active and so is Nature
(b) A place where Man is passive and so is Nature
(c) A place where Man is passive but Nature is active
(d) A place where Man and Nature do not co exist.
(1 Mark)
3. What according to the author can lead to the death of carnivores?
(a) Finding antidotes for epidemics, which might kill animal that are food
for carnivores
(b) Conservation at a later stage
) Carnivores can die anytime.
(d) Man is egoistic and wants to be powerful than carnivores.
(1 Mark)
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4. Find the word in the passage that means ‘unprovoked’ or ‘deliberate’
(a) Beneficially
(b) Wanton

(c) Inevitable
(d) Providence
(1 Mark)
5. What does the author mean by the phrase ‘earthly Providence’ in the last line
of the passage?
(a) The Earth is God.
(b) Man is inferior to God.
(c) God will not take care of the Earth
(d) Man wants to be like God on Earth.
(1 Mark)
(b) What is visual communication?
(1 Mark)

(c) (i) Choose the word which best expresses the meaning of the given word.
Contingency

(a) Existence
(b) Evidence
(c) Rebel
(d) Emergency
(1 Mark)
(i) Select a suitable antonym for the word given in question.
Proximity
(a) Approximation
(b) Assumingly
(c) Remoteness
(d) Cure
(1 Mark)
(iii)  Change the following sentences into passive voice.
Who wrote this essay?
(1 Mark)
(iv) Change the following sentences to indirect speech.
Sheila said, ‘How smart Seema is’
(1 Mark)

Question 8:
(a) Draft a Memo informing the staff about the dismissal of the Sales Head on being
proved guilty of charges of misappropriation of funds/accounts.

(5 Marks)
(b) What is network in communication.
(1 Mark)
(c) () Choose the word which best expresses the meaning of the given word.
Inherent
(a) Intrinsic
(b) Inevitable
(c) Innovation
(d) Intent
(1 Mark)
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(i) Choose the appropriate antonym (opposite) for the word
Serene
(a) Valley
(b) Young
(c) Unrest
(d) Harmless
(1 Mark)
(iii) Change the following sentences into passive voice
Rajesh uses a pen to sketch figures.
(1 Mark)
(iv) Change the following sentence to indirect speech.
Elders always say, ‘If you work hard, you will succeed.’
(1 Mark)

Question 9:

(a)

(b)

(c)

Write an Article of about 250-300 words on the topic “What is more important—
Physical fitness or Mental fitness?

(5 Marks)
Explain briefly the characteristics of effective communication.
(2 Marks)
(i) Select the suitable antonym for the given word:
Vigilant
(a) Careful
(b) Curious
(c) Concerned
(d) Inattentive
(1 Mark)
(i) Rewrite the following sentences in active voice
Work could be done by us only by next week.
(1 Mark)
(iii) Change the following sentence into Indirect speech.
Teacher said, ‘Please use a blue pen for your homework’
(1 Mark)

Question 10:

(a)

Write a précis and give appropriate title to the passage given below.

After years of questioning the potential health hazards of second hand cigarette smoke,
a growing number of scientists and health officials are becoming persuaded that the
dangers are real, broader than once believed and parallel those of direct smoke.

It has long been established that smoking harms the health of those who do the
smoking. Now new epidemiological studies and reviews are strengthening the evidence
that it also harms the health of other people nearby who inhale the toxic fumes
generated by the smoker, particularly from the burning end of the cigarette. Such
indirect, or second hand, smoking causes death not only by lung cancer, but even more
by heart attack, the studies show. The studies on passive smoking, as it is often called,
also strengthen the link between parental smoking and respiratory damage in children.
What has swayed many scientists is a remarkable consistency in findings from
different types of studies in several countries with improved methods over those
used in the first such studies a few years ago. The new findings confirm and advance
two landmark reports in 1986 from the Surgeon General, who concluded that passive
smoking caused lung cancer, and from the National Research Council, which said
passive smoking is associated with lung cancer.
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(b)

(c)

"T he links between passive smoking and health problems are now as solid as any
finding in epidemiology," said, an expert in the epidemiology of smoking at the
University of California at San Diego.

(5 Marks)

What do you mean by completeness in effective communication?

(i)

(1 Mark)

Choose the word which best expresses the meaning of the given word.

Embezzle

(@) Shine
(b) Steal
(c) Busy
(d) Shocked

(i) Select a suitable antonym for the word given in question.

Applaud

(a) Organize
(b) Compose
(c) About
(d) Condemn

(iii) Change the following sentences into passive voice.
You should write an apology letter.

(iv) Change the following sentences to indirect speech.
Uncle said, ‘T am unwell’

Question 11:

(1 Mark)

(1 Mark)

(1 Mark)

(1 Mark)

(a) As the Manager, HR of Net Solutions Ltd, Mumbai, draft a complaint letter to the
Administration Head of Food for you Solutions, Mumbai, stating your concern about

the bad quality of food being supplied to your company’s cafeteria.

(b) What is non verbal communication. Explain its types.

(c) () Select the suitable antonym for the given word:

Concealed

(a) To hide

(b) Uninteresting
(c) Known

(d) Related

(i)  Rewrite the following sentences in active voice
A conservative lifestyle was led by women in olden days.

(iii) Change the following sentence into Indirect speech.
The girl asked, ‘Where do you live'?

**k*

(5 Marks)

(2 Marks)

(1 Mark)

(1 Mark)

(1 Mark)
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